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Third Semester Examination — 2007
ENGINEERING ECONOMICS AND COSTING

@ ) Full Marks —70

Time : 3 Hours

Answer Question No. 1 which is compulsory

and any five from the rest.
The figures in the right-hand margin
indicate marks.

1. Answer the following questions : 2x10

@ ?55‘ (a) What do you mean by ‘semi-annual

compounding’ ?-

(b) Whatis flatrates of interest 7
P.T.O.







excoed As 500 annually. Assume an 8 years purchased another machine for Rs. 1.00,000.

study period with zero salvage for both pump On 15t July, 2006 it soid off the first machine fo
sets at the end of the period. The firm uses a Rs 2.50,000 and bought another for "«|
frinimum akemative rate of retum of 127 Shoukd Rs 3.00 000 Depreciation was providedonthe |
the pump be replaced 7 10 ' . machire @ 10% on original cost annually on

315t December. With effect on 1st January, 2007
4. Youare required to select one projact from two

the company changed the method of providing
mutually exclusive alternatives Take imagnary

depreciation and adopted written down value
figures regarding their cost, uniform annua

method and the rate of depreciation 15% p.a.
benefit, useful life in years and interest rate

Calculate depreciation for four years. 10
Discuss the process of selection based on the

future worth method of comparson 10 6. The following figures are available for the records

of Utkal Ltd. as at 31st March :
5. Konark Lid. purchased a second hand machine

2006 2007
on 1st January, 2004 for Rs. 3,70.000 and @ 2
Rs. (in lakhs) Rs. (inlakhs)
ﬂﬂ? immediately spent Rs. 20,000 on its repairs and Sales 150 200
Rs. 10,000 for installation. On 1st July, 2005 it Profit 30 50
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Calculate ; Bx2 8. Write short notes on -

(a) the P/V ratio and total fixed cost (a) Costreduction

(b) the break-even level of sales.
(b) Relevantcost.

Orissa Ltd. follows standard costing. It manu-

factures two products. Standard hours for manu-

facturing two products M and N are 15 hours L) 2
per unit and 20 hours per unit respectively. Both

the products require identical kind of labour and

the standard wages rates per hour is Rs. 5. In

the year 2007, 10,000 units of M and 15,000

units of N were manufactured. The total of labour

hours actually worked were 4,50,000 and the

actual wage bill came to Rs. 23,00,000. This

Include 12,000 hours paid for @ Rs. 7 per hour

and 9,400 hours paid for @ Rs. 7.50 per hour, ¢ @&
the balance having been paid at Rs. 5 per hour.

You are required to compute the |labour

variances. 10
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